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1. Complete and balance the following redox equation. The sum of the coefficients when they are
all whole numbers is
MnO, + H' +Br — Mn* + Br, + H,O (acidic solution)
(A).11 (B).29 (C).17 (D).43

2. Consider the two gaseous equilibria
SOz + 112 Oy SO3g  Ki

E—

23039 = 2S04+ Oz K2
(A). Ko = (K)? (B). (K2)> =K; (C). Ky = (Ky)%: (D)rnone of the above

3. For the chemical reaction A — C, a plot of 1/[A] versus time was found to give a straight line
with a positive slope. What is the order of reaction with respect to A?
(A). zero (B).first (C).second (D). Such a plot cannot reveal the order of reaction.

4. Which statement is true in regard to aSpontaneous redox reaction? (A). E° (g is always
negative (B). E° e is always positive (C). E° o is always positive (D). E® (4 is always
positive

5. % ik B Kt g+ 27 (A). F Bz iz 2 (B). 5 e & o @ vt (O). 5 kv A
$oo e 7 D) F B

6. fig il -k 7% i A J‘ﬁrfﬁ Tolie g At 2 AE? (A). K #5 (B). H'E B g4 (C). [H] %+
(D). f2d i %

7.%-3*R®RrF RB2ZAE° —r;'l""ﬁ it Fr(A). AE° \_}"5 "f?—?‘ﬁf&K % (B).
ya\=% ,é} < P E R iE ,é} B (C). = 258 & Gt BISPIAE® 4z (D). AE [N
B & B

8. kz ¥ #(Ky) 5 X107 (257C), R & 25C P k2 f3aF B2 NS SAH 2 &
A3 () &E () (A AS LI, AH i1 (B). AS® i1, AH i (C). AS
=fE,AH 21 (D). AS® & §,AH 5§




p2-2
L3 540 sl EHJ BRI 54 (F R * 3 5 48), F 3154

1.5 o faz i F 384T
203(9) — 3 Oz(g) Rate= k [03]2/[ O3]
BIRET LR AL AL
O3(g) = O+ O2(g) (+)
O+ O3g) =~ 2Oz (1)
2. T F B2ZAG 5 212 kl/mol, FAE L 25CH, F 5 (02 B4 &% atm? (3L

# 48 % dc R=8.314J/mol K)
NiO ) —Ni +1/2 Oy

3. Dissolved oxygen in water samples can be determined according to the reaction
below (the equation need to be balanced).

Mn+2(aq) + O2(aq) g Mn02(s) + H20(|) (basic)
MnOz¢) + 1@y — Mn*2aq) + l,agy” “(acidic)
) + $205° gy — Si06Gqy + | Fiag | (basic)

Exactly 200.0ml of a water sample is treated according to the first two equations above and then
titrated withNa;S;03,q) . The titration requires.8:32.ml of 0.0500M Na,S,03q) . Calculate the
concentration of dissolved oxygen insmoles-per-liter.

4. A sample of 0.5662g of sea sand containing chloride ion was dissolved in water. After the
insoluble material was filtered, the filtrate was treated with an excess of siliver nitrate (AgNO3).
A precipitate of silver chloride (AgCl) was formed. If the mass of precipitate is 1.6323g, what is
the ppm of chloride‘in this-sea-sand sample. (MW: Ag=107.9, CI=35.45)



